Equilibrium. These problems are from your textbook. More can be found in chapter 19.

1. (19.5) Write the equilibrium-constant expression (Kc) for each of the following reactions.
a. SO:Clz (g) = SOz (g) + Cl2 (9)
b. 2 H.0: (g) = 2 H20 (I) + O2 (9)

2. (19.11) Phosgene, COCI: (g), a toxic gas used in the synthesis of a variety of organic compounds,
decomposes according to

COClz (g) = CO (9) + Cl2 (9)

A sample of phosgene gas at an initial concentration of 0.500 M is heated at 527 °C in a reaction vessel.
At equilibrium, the concentration of CO (g) was found to be 0.046 M. Calculate the equilibrium constant for
the reaction at 527 °C.

3. (19.14) Nitrogen dioxide decomposes at high temperatures according to the equation:
2 NO2(9) = 2NO (9) +O2(9)

Suppose initially we have pure NO, (g) at 1000 K and 0.500 atm. If the total pressure is 0.732 atm when
equilibrium is reached, what is the value of Kp (make sure to include the correct units)?

4. (19.17) Given that [Ni(CO)4] = 0.85 M at equilibrium for the reaction below, calculate the concentration of
CO (g) at equilibrium.

Ni(s) + 4 CO (g) = Ni(CO)s (g) Kc = 5.0 x 104 M3

5. (19.24) Sodium bicarbonate decomposes according to the equation below. Given that Kp = 0.26 atm? at
125 °C, calculate the partial pressures of CO; (g) and H2O (g) at equilibrium when NaHCO:3 (s) is heated to
125 °C in a closed vessel.

2 NaHCOs3 (s) = NazxCOs (s) + CO2 (g) + H20 (9)

6. (19.25) For the reaction below, calculate the equilibrium concentrations of ICI (g), |2 (g), and Clz (g) when
0.65 moles of I> (g) and 0.33 moles of Cl (g) are mixed in a 1.5 liter reaction vessel.

21CI (g) = 12 (g) + Cl2 (g) Kc=0.11

7. (19.37) Consider the chemical equilibrium described below. Predict the way in which the equilibrium will
shift in response to each of the following changes.

C(s)+2Hz2(g) = CHa (9)

Decrease in the pressure of H»
Increase in the pressure of CHa4
Adding C (s) to the flask

The volume is decreased
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8. (19.50) If 0.20 atm H, and 3.0 atm CHa4 (g) are mixed in the presence of 4 grams of carbon at 500 °C,
determine if the reaction is at equilibrium. If it is not, determine if products or reactants will be formed.
C (s)+2Hz(g) = CH4(9) Kp = 2.69 x 10° atm™ (at 500 °C)



U K= Loy

Kc,’- oW
C<o.<l) Clond™
@ Qo = Co +Clo
K - CCD)[_’_C( h)
T os ™ ) e= CS93Len) (p.0ue Mo
2 CCocly ) ( Do et 1)

c -X rXHK oo
L os-x X X

K<_’- 0-68Y6( M
Kaowa s CCO)QEu\luBuq—- T 004U H
X= o.o4L M

Ccd) = 0. 046

Coly= o-eH6 T

COXUnD = .S -0t — D. Yy k
~ - LNOLG Z WO x 01y

-
1: bg_ ok p, ﬁ \ T = ?Nr\*?[\)b"' (\’O’L
c os -1V ¥ P 0%~ 0-C-2X v 1K +X
D131 = 0% +X
?M—\,’-— 0.5 - o VD = 0.0V, atm

Xz 0.1
‘P‘\)Q = 2LLo1YL)= OYLy a\le

Kp~ @uwn et lomn et
Tor— 0. LI &V F (o e ) 295 admt
: - CNilew ..
q Kc \ )-(3 S-Kw{h') - OXYV\
Ccod o8 =

cdt = 1ashr S M-{
Lo

Cead~ 0041 ™M

S, LN = Noy Loy + W+ Rroey o= D16 oot
T o 5
= kx L
c X X
016 ko™ = x1 -
X~ 0SSt ckm oy = o-Slakm
=



6, 1T T Tacq + Iy LA = 248 omal S
g L - ©93

£ & 013 AL M
c +WX _ Colay- 033 o
e K X —X <L 12M

OUP-¢ oA -x

0N = (0un-D(0 D o5k - 06SIKAKT byt 2 00T - D-6SIX KT

ot Mt O~ 056t -0-LSIX 4 6.697503
oo o )
b~ ~0.6¥3 X~ LI wac (x=0\\7
C-. 005 T A A0-943

nok ’PusﬁzLLz Lo (T

u\) .V¢|
CT N = 34V - 001 ~ 0Lla M o be neyebvel

CAN= 011 -3 = o.oygy M
LTAN= 1k ~ 20101 = 03429 M

A o b omet (terboak — e RacEb Qen
. T T\“Lc’f —> More teetorly Fn
Q. No chenge! salids o (\/«\ ?o’\—DL A~ oquiliba
d. More vole ot 5o K& eeckoh [ doerese vo valor egualn kS o inertan i
Press e o gasa (Boyley L) . ?,-«‘;MH 408 Ug Mers Yo ?@A«l—,
Spo ... (el 4 prales prw ‘imlath

g. Q= T _ 2ate

T et

=~ A< abn

not o “io}(ulﬁi*’\



	EquilibriumClassActivity
	Equilibrium class activity

